

PO No. 4500095258

Date: 10/31/2017 Page 1 of 13

Ship To:

City of San Diego FLEET OPERATIONS DEPT 2740 CAMINITO CHOLLAS SAN DIEGO, CA 92105 Bill To:

FLEET OPERATIONS 2740 CAMINITO CHOLLAS SAN DIEGO CA 92105 **Billing Contact:** Karen Wilger

Telephone:

E-Mail: KWILGER @ SANDIEGO. GOV

KMMcDonald@sandiego.gov

Vendor: Competitive Metals Inc

135 Cypress Lane El Cajon CA 92020-1609 Terms:

E-Mail:

within 30 days Due net **Delivery Terms:**FOB Destination

Buyer: Katrina McDonald

Telephone: 619 236-6038

Vendor ID: 10028310 **Telephone:**619-442-4130 **E-Mail:**

Item ID/Description Quantity/Ord UoM Unit Price/Prc UoM Line# Del.Date **Extended Price** Serv# **Service Description Conv Factor** 2" X 3" X 0.250" 06/30/2018 200 FT 4 69 FT USD 938.00 1 USD Non-Deductible Tax 72.70 Item completely delivered 2 1" X 1" X 0.065" 06/30/2018 250 FT 0.52 FT USD 130.00 Non-Deductible Tax USD 10.08 Item partially delivered 2" X 2" X 0.250" 3 06/30/2018 200 FT 3.58 FT USD 716.00 Non-Deductible Tax USD 55.49 3/4" X 3/4" X 0.065" 06/30/2018 100 FT USD 36.00 4 0.36 FT Non-Deductible Tax USD 2.79 **** Item partially delivered 5 3" X 5" X 0.250" 06/30/2018 100 FT 6.99 FT USD 699.00 Non-Deductible Tax USD 54.18 6 2" X 4" X 0.250" 06/30/2018 200 FT 5.10 FT USD 1,020.00 USD Non-Deductible Tax 79.05 7 1" X 2" X .120" 06/30/2018 500 FT 1.56 FT USD 780.00 Notes: The Terms and Conditions of this Purchase Order are available at http://sandiego.gov/purchasing/

IMPORTANT!

To ensure prompt payments, PO # must appear on all shipments and invoices; all invoices must be directed to *Billing* Contact person at *Bill-To* address listed above

SEE LAST PAGE FOR TOTAL



PO No. 4500095258

Date: 10/31/2017

Page 2 of 13

.ine#	Item ID/D Serv#	escription Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Ud Conv Factor	m Exten	ded Price
	Non-Deductible Tax					USD	60.4
8	3 1/2" X 1 1/2" X 10GA		06/30/2018	100 FT	3.21 FT	USD	321.0
	Non-Deductible Tax					USD	24.8
9	2" X 2" X 11GA		06/30/2018	500 FT	2.09 FT	USD	1,045.0
	Non-Deductible Tax					USD	80.9
10	2 1/2" X 2 1/2" X 1/4"		06/30/2018	200 FT	4.70 FT	USD	940.0
	Non-Deductible Tax					USD	72.8
11	1 1/4" X 1 1/4" X .120"		06/30/2018	200 FT	1.26 FT	USD	252.0
	Non-Deductible Tax					USD	19.5
12	1 1/2" X 1 1/2" X 3/16"		06/30/2018	150 FT	2.11 FT	USD	316.5
	Non-Deductible Tax					USD	24.5
13	2" X 3" X 3/16"		06/30/2018	150 FT	3.70 FT	USD	555.0
	Non-Deductible Tax					USD	43.0
14	1 1/4" X 1 1/4" X 13GA		06/30/2018	250 FT	0.85 FT	USD	212.5
	Non-Deductible Tax					USD	16.4
15	2" X 3" X 1/4"		06/30/2018	200 FT	4.27 FT	USD	854.0
	Non-Deductible Tax					USD	66.1
16	2" X 1" X 3/16"		06/30/2018	500 FT	0.96 FT	USD	480.0
	Non-Deductible Tax					USD	37.2
17	3" X 4.1#		06/30/2018	250 FT	1.97 FT	USD	492.5
	Non-Deductible Tax					USD	38.1
otes: T	he Terms and Conditions of the	nis Purchase Order are availa	ble at http://sandiego	gov/purchasing/	SEE L	AST	PAGE
		IMPORTANT!				R TOT	



PO No. 4500095258

Date: 10/31/2017

Page 3 of 13

ine#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Exten	ded Price
18	4" X 5.4#	06/30/2018	250 FT	2.59 FT	USD	647.50
	Non-Deductible Tax				USD	50.18
19	3/8" CR	06/30/2018	500 FT	0.46 FT	USD	230.00
	Non-Deductible Tax				USD	17.83
20	1/2" CR	06/30/2018	500 FT	0.69 FT	USD	345.00
**	Non-Deductible Tax Item partially delivered				USD	26.74
21	5/8" CR	06/30/2018	200 FT	1.08 FT	USD	216.00
	Non-Deductible Tax				USD	16.74
22	3/4" CR	06/30/2018	100 FT	1.56 FT	USD	156.00
	Non-Deductible Tax				USD	12.09
23	1/4" CR	06/30/2018	400 FT	0.20 FT	USD	80.00
	Non-Deductible Tax				USD	6.20
24	7/8" CR	06/30/2018	100 FT	2.29 FT	USD	229.00
	Non-Deductible Tax				USD	17.75
25	1" CR	06/30/2018	100 FT	2.64 FT	USD	264.00
	Non-Deductible Tax				USD	20.46
26	1-1/4" CR	06/30/2018	51 FT	4.25 FT	USD	216.75
	Non-Deductible Tax				USD	16.80
27	1-1/2" CR	06/30/2018	105 FT	6.10 FT	USD	640.50
	Non-Deductible Tax				USD	49.64
lotes: Th	he Terms and Conditions of this Purchase Order are av	/ailable at http://sandiego.	gov/purchasing/	SEE LA	ST	PAGE
	IMPORTANT! e prompt payments, PO # must appear on all sh o Billing Contact person at Bill-To address listed		all invest	FOR	TOT	AL



PO No. 4500095258

Date: 10/31/2017

Page 4 of 13

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uon Conv Factor	Extend	ded Price	
28	1-1/2" CR BAR ROUND	06/30/2018	20 FT	9.80 FT	USD	196.00	
	Non-Deductible Tax				USD	15.19	
29	2-1/2" CR BAR ROUND	06/30/2018	20 FT	27.92 FT	USD	558.40	
	Non-Deductible Tax				USD	43.27	
30	3/4" CR BAR ROUND	06/30/2018	100 FT	3.44 FT	USD	344.00	
	Non-Deductible Tax				USD	26.66	
31	1" CR BAR ROUND	06/30/2018	50 FT	4.54 FT	USD	227.00	
	Non-Deductible Tax				USD	17.60	
32	1-1/4" CR BAR ROUND	06/30/2018	50 FT	7.09 FT	USD	354.50	
	Non-Deductible Tax				USD	27.47	
33	1-3/4" CR BAR ROUND	06/30/2018	20 FT	15.77 FT	USD	315.40	
	Non-Deductible Tax				USD	24.44	
34	1" X 1" X 1/8" STEEL ANGLE	06/30/2018	300 FT	0.51 FT	USD	153.00	
	Non-Deductible Tax				USD	11.86	
35	1-1/4" X 1-1/4" X 1/8" STEEL ANGLE	06/30/2018	300 FT	0.61 FT	USD	183.00	
	Non-Deductible Tax				USD	14.19	
36	1-1/2" X 1-1/2" X 1.8" STEEL ANGLE	06/30/2018	300 FT	0.68 FT	USD	204.00	
	Non-Deductible Tax				USD	15.81	
37	2" X 2" X 1/8" STEEL ANGLE	06/30/2018	300 FT	0.87 FT	USD	261.00	
	Non-Deductible Tax				USD	20.23	
38 Notes: Th	he Terms and Conditions of this Purchase Order are availa	able at http://sandiego	.gov/purchasing/	QEE I /	L VCT [
	IMPORTANT!			SEE LAST PAGE FOR TOTAL			



PO No. 4500095258

Date: 10/31/2017

Page 5 of 13

ine#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/P		Exten	ded Price
	1" X 1" X 3/16" STEEL ANGLE	06/30/2018	100 FT	0.62	FT	USD	62.00
	Non-Deductible Tax					USD	4.8
39	1-1/2" X 1-1/2" X 3/16" STEEL ANGLE	06/30/2018	150 FT	0.95	FT	USD	142.50
	Non-Deductible Tax					USD	11.0
40	3/4" SCH. 40 STEEL PIPE	06/30/2018	150 FT	0.70	FT	USD	105.0
	Non-Deductible Tax					USD	8.1
41	1" SCH. 40 STEEL PIPE	06/30/2018	400 FT	0.98	FT	USD	392.0
	Non-Deductible Tax					USD	30.3
42	2" SCH.40 STEEL PIPE	06/30/2018	100 FT	2.30	FT	USD	230.0
	Non-Deductible Tax					USD	17.8
43	GALV 2" SCH 40 PIPE	06/30/2018	200 FT	2.55	FT	USD	510.0
	Non-Deductible Tax					USD	39.5
44	1" X 8" STEEL BLACK PIPE	06/30/2018	10 EA	2.59	EA	USD	25.9
	Non-Deductible Tax					USD	2.0
45	1 1/2" SCH. 40 BLACK PIPE	06/30/2018	50 FT	1.65	FT	USD	82.5
	Non-Deductible Tax					USD	6.3
46	8" STAINLESS STEEL 304 SCH 10	06/30/2018	20 FT	27.25	FT	USD	545.0
	Non-Deductible Tax					USD	42.2
47	6" STAINLESS STEEL 304 SCH 10	06/30/2018	100 FT	18.91	FT	USD	1,891.0
	Non-Deductible Tax					USD	146.5
48	3/4" GALV SCH 40 PIPE	06/30/2018	100 FT	0.81	FT	USD	81.0
otes: T	he Terms and Conditions of this Purchase Order are availa	ble at http://sandiego	.gov/purchasing/	SEE	LA	STI	PAGE
	IMPORTANT! e prompt payments, PO # must appear on all shipm to Billing Contact person at Bill-To address listed about				OR	TOT	'AL



PO No. 4500095258

Date: 10/31/2017

Page 6 of 13

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Exter	nded Price
	Non-Deductible Tax				USD	6.28
49	2" X 1/8" STEEL FLAT BAR	06/30/2018	300 FT	0.68 FT	USD	204.00
	Non-Deductible Tax				USD	15.81
50	1-1/2" X 3/16" STEEL FLAT BAR	06/30/2018	500 FT	0.57 FT	USD	285.00
	Non-Deductible Tax				USD	22.09
51	2" X 3/16" STEEL FLAT BAR	06/30/2018	300 FT	0.75 FT	USD	225.00
***	Non-Deductible Tax Item partially delivered				USD	17.44
52	3" X 3/16" STEEL FLAT BAR	06/30/2018	100 FT	1.05 FT	USD	105.00
***	Non-Deductible Tax Item partially delivered				USD	8.14
53	4" X 3/16" STEEL FLAT BAR	06/30/2018	100 FT	1.45 FT	USD	145.00
	Non-Deductible Tax				USD	11.24
54	1" X 1/4" STEEL FLAT BAR	06/30/2018	300 FT	0.51 FT	USD	153.00
***	Non-Deductible Tax Item partially delivered				USD	11.86
55	1-1/2" X 1/4" STEEL FLAT BAR	06/30/2018	400 FT	0.68 FT	USD	272.00
***	Non-Deductible Tax Item partially delivered				USD	21.08
56	2" X 1/4" STEEL FLAT BAR	06/30/2018	200 FT	0.95 FT	USD	190.00
***	Non-Deductible Tax Item partially delivered				USD	14.73
57	3" X 1/4" STEEL FLAT BAR	06/30/2018	150 FT	1.34 FT	USD	201.00
	Non-Deductible Tax				USD	15.58
Notes: Th	ne Terms and Conditions of this Purchase Order are availa	able at http://sandiego	gov/purchasing/	SEE LA	ST	PAGE
	IMPORTANT!			FOR		



PO No. 4500095258

Date: 10/31/2017

Page 7 of 13

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uon Conv Factor	Extend	ded Price
***	Item completely delivered					
58	4" X 1/4" STEEL FLAT BAR	06/30/2018	150 FT	1.74 FT	USD	261.00
***	Non-Deductible Tax Item completely delivered				USD	20.23
50		00/00/0040	450 57	0.50 55		070.00
59	6" X 1/4" STEEL FLAT BAR Non-Deductible Tax	06/30/2018	150 FT	2.52 FT	USD	378.00 29.30
60	1" X 3/8" STEEL FLAT BAR	06/30/2018	20 FT	0.69 FT	USD	13.80
	Non-Deductible Tax				USD	1.07
61	2" X 3/8" STEEL FLAT BAR	06/30/2018	150 FT	1.35 FT	USD	202.50
	Non-Deductible Tax				USD	15.69
62	3" X 3/8" STEEL FLAT BAR	06/30/2018	20 FT	2.03 FT	USD	40.60
***	Non-Deductible Tax Item completely delivered				USD	3.15
63	4" X 3/8" STEEL FLAT BAR	06/30/2018	20 FT	2.65 FT	USD	53.00
	Non-Deductible Tax				USD	4.11
64	6" X 3/8" STEEL FLAT BAR	06/30/2018	20 FT	3.89 FT	USD	77.80
	Non-Deductible Tax				USD	6.00
65	2" X 1/2" STEEL FLAT BAR	06/30/2018	100 FT	1.77 FT	USD	177.0
	Non-Deductible Tax				USD	13.7
66	3" X 1/2" STEEL FLAT BAR	06/30/2018	100 FT	2.65 FT	USD	265.0
	Non-Deductible Tax				USD	20.54
67	4" X 1/2" STEEL FLAT BAR	06/30/2018	20 FT	3.54 FT	USD	70.80
Notes: T	he Terms and Conditions of this Purchase Order are avail	able at http://sandiego.	gov/purchasing/	SEE LA	AST F	PAGE
	IMPORTANT!			FOR		



PO No. 4500095258

Date: 10/31/2017

Page 8 of 13

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Pro		Exten	ded Price		
	Non-Deductible Tax					USD	5.49		
68	6" X 1/2" STEEL FLAT BAR	06/30/2018	10 FT	5.31	FT	USD	53.10		
	Non-Deductible Tax					USD	4.12		
69	1" X 3/16" STEEL FLAT BAR	06/30/2018	300 FT	0.40	FT	USD	120.00		
	Non-Deductible Tax					USD	9.30		
70	4" X 1/8" STEEL FLAT BAR	06/30/2018	100 FT	1.12	FT	USD	112.00		
	Non-Deductible Tax					USD	8.68		
71	1-1/2" X 1/8" STEEL FLAT BAR	06/30/2018	100 FT	0.45	FT	USD	45.00		
	Non-Deductible Tax					USD	3.49		
72	6" X 1/8" STEEL FLAT BAR	06/30/2018	50 FT	1.85	FT	USD	92.50		
	Non-Deductible Tax					USD	7.17		
73	1-1/4" X 1/4" STEEL FLAT BAR	06/30/2018	100 FT	0.66	FT	USD	66.00		
	Non-Deductible Tax					USD	5.12		
74	1-1/4" X 1/8" STEEL FLAT BAR	06/30/2018	100 FT	0.48	FT	USD	48.00		
	Non-Deductible Tax					USD	3.72		
75	3" X 1/8" STEEL FLAT BAR	06/30/2018	100 FT	0.91	FT	USD	91.00		
	Non-Deductible Tax					USD	7.06		
76	2" OD X 0.500" WALL CARBON STEEL TUBING	06/30/2018	100 FT	11.40	FT	USD	1,140.00		
	Non-Deductible Tax					USD	88.35		
77	1-3/4" OD X 0.500" WALL CARBON STEEL TUB	06/30/2018	100 FT	23.01	FT	USD	2,301.00		
	Non-Deductible Tax					USD	178.33		
Notes: T	he Terms and Conditions of this Purchase Order are ava	lable at http://sandiego	gov/purchasing/	SEE	LA	STI	PAGE		
	IMPORTANT!					FOR TOTAL			



PO No. 4500095258

Date: 10/31/2017

Page 9 of 13

ine#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Exter	nded Price
78	2" OD X 0.250" WALL CARBON STEEL TUBING	06/30/2018	100 FT	5.20 FT	USD	520.00
	Non-Deductible Tax				USD	40.30
79	2-1/2" OD X 0.625" WALL CARBON STEEL TUB	06/30/2018	100 FT	24.20 FT	USD	2,420.00
	Non-Deductible Tax				USD	187.5
80	2-1/2" OD X 0.250" WALL CARBON STEEL TUB	06/30/2018	100 FT	6.78 FT	USD	678.00
	Non-Deductible Tax				USD	52.55
83	1" X 1" CR SQ SOLID	06/30/2018	20 FT	4.35 FT	USD	87.00
	Non-Deductible Tax				USD	6.75
84	10GA X 4' X 10' SS PLATE	06/30/2018	100 FT2	3.21 FT2	USD	321.00
	Non-Deductible Tax				USD	24.88
85	14GA X 4' X 10' SS PLATE	06/30/2018	200 FT2	1.85 FT2	USD	370.00
	Non-Deductible Tax				USD	28.68
86	20GA X 4' X 10' SS PLATE	06/30/2018	100 FT2	0.88 FT2	USD	88.00
	Non-Deductible Tax				USD	6.82
87	3/16" X 4' X 10' SS PLATE	06/30/2018	100 FT2	4.21 FT2	USD	421.00
	Non-Deductible Tax				USD	32.60
88	1/4" X 4' X 10' SS PLATE	06/30/2018	100 FT2	5.81 FT2	USD	581.00
	Non-Deductible Tax				USD	45.00
89	1/2" X 4' X 10' SS PLATE	06/30/2018	100 FT2	12.05 FT2	USD	1,205.0
	Non-Deductible Tax				USD	93.39
90 otes: Th	ne Terms and Conditions of this Purchase Order are avail	able at http://sandiego	.gov/purchasing/	SEE LA	ST	PAGE
	IMPORTANT!			FOR		



PO No. 4500095258

Date: 10/31/2017

Page 10 of 13

_ine#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Pro		Extend	ed Price		
	3/8" X 4' X 8' SS PLATE	06/30/2018	500 FT2	9.33 F	FT2 L	JSD	4,665.00		
	Non-Deductible Tax				ι	JSD	361.54		
**	Item partially delivered								
91	GALV 20GA 4' X 10'	06/30/2018	100 FT2	0.98 F	FT2 L	JSD	98.00		
	Non-Deductible Tax				ι	JSD	7.60		
**	Item completely delivered								
92	3/4" #9 STD EXP METAL 4' X 8'	06/30/2018	100 FT2	1.04 F	FT2 L	JSD	104.00		
	Non-Deductible Tax				ι	JSD	8.06		
93	3/4" FLAT EXP METAL 5' X 10'	06/30/2018	100 FT2	1.12 F	FT2 L	JSD	112.00		
	Non-Deductible Tax				l	JSD	8.68		
94	3/16" X 4' X 10' FLOOR PLATE	06/30/2018	100 FT2	5.31 F	FT2 L	JSD	531.00		
	Non-Deductible Tax				ı	JSD	41.16		
95	1/4" X 4' X 10' FLOOR PLATE	06/30/2018	100 FT2	6.64 F	FT2 L	JSD	664.00		
	Non-Deductible Tax				ι	JSD	51.46		
96	4# GRATING 4' X 10'	06/30/2018	100 FT2	3.26 F	FT2 L	JSD	326.00		
	Non-Deductible Tax				ι	JSD	25.27		
**	Item partially delivered								
97	14 GA DIAMOND FLOOR PLATE	06/30/2018	100 FT2	2.39 F	FT2 L	JSD	239.00		
	Non-Deductible Tax				ι	JSD	18.53		
98	10 GA DIAMOND FLOOR PLATE	06/30/2018	100 FT2	3.51 F	FT2 L	JSD	351.00		
	Non-Deductible Tax				ι	JSD	27.21		
99	12 GA BLACK IRON	06/30/2018	100 FT2	2.51 F	FT2 L	JSD	251.00		
	Non-Deductible Tax				ι	JSD	19.46		
lotes: T	he Terms and Conditions of this Purchase Order are availa	able at http://sandiego	.gov/purchasing/	SFF	ΙΔΩ	ST P	AGF		
	IMPORTANT!					SEE LAST PAGE FOR TOTAL			



PO No. 4500095258

Date: 10/31/2017

Page 11 of 13

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uc Conv Factor	m Exter	nded Price
100	5/8" X 4' X 10' TANK PLATE	06/30/2018	100 FT2	15.06 FT2	USD	1,506.00
	Non-Deductible Tax				USD	116.72
101	14 GA X 4' X 10' GALV	06/30/2018	100 FT2	2.03 FT2	USD	203.00
	Non-Deductible Tax				USD	15.74
102	3/4" HR PLATE STEEL A36	06/30/2018	100 FT2	18.99 FT2	USD	1,899.00
	Non-Deductible Tax				USD	147.18
103	1/2" #13 FLAT EXP STEEL	06/30/2018	100 FT2	1.04 FT2	USD	104.00
	Non-Deductible Tax				USD	8.06
104	1" HR PLATE STEEL	06/30/2018	100 FT2	24.91 FT2	USD	2,491.00
	Non-Deductible Tax				USD	193.06
105	16 GA GALV SHEET	06/30/2018	100 FT2	1.60 FT2	USD	160.00
	Non-Deductible Tax				USD	12.40
106	16 GA CR STEEL SHEET	06/30/2018	100 FT2	1.55 FT2	USD	155.00
	Non-Deductible Tax				USD	12.02
107	3/8" STEEL DIAMOND PLATE	06/30/2018	20 FT2	9.65 FT2	USD	193.00
	Non-Deductible Tax				USD	14.96
108	1-1/4" HOT ROLLED STEEL PLATE	06/30/2018	20 FT2	28.08 FT2	USD	561.60
	Non-Deductible Tax				USD	43.53
109	1-1/2" HR STEEL PLATE	06/30/2018	50 FT2	35.53 FT2	USD	1,776.50
	Non-Deductible Tax				USD	137.68
Notes: T	 The Terms and Conditions of this Purchase Order are ava	ilable at http://sandiego.	gov/purchasing/	SEE L	AST	PAGF
To ensur	IMPORTANT!	oments and invoices:	all invoices must be	FOF	TO1	
directed Rev 04 - 16	re prompt payments, PO # must appear on all ship to <i>Billing</i> Contact person at <i>Bill-To</i> address listed a	bove	an involces must be			



PO No. 4500095258

Date: 10/31/2017

Page 12 of 13

.ine#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/P Conv Fa	rc Uom ctor	Extend	ded Price
	12 GA 304 STAINLESS STEEL	06/30/2018	200 FT2	9.34	FT2	USD	1,868.00
	Non-Deductible Tax					USD	144.7
111	10 GA 304 SS DIAMOND PLATE	06/30/2018	50 FT2	15.83	FT2	USD	791.50
	Non-Deductible Tax					USD	61.34
112	3/16" (.188) 304 SS	06/30/2018	1 FT2	18.10	FT2	USD	18.10
	Non-Deductible Tax					USD	1.4
113	1\4" X 4' X 10' 304 SS	06/30/2018	1 FT2	22.24	FT2	USD	22.24
	Non-Deductible Tax					USD	1.72
114	.100" X 4'X 12', 6061T-6 ALUM PLATE	06/30/2018	200 FT2	4.10	FT2	USD	820.00
	Non-Deductible Tax					USD	63.5
115	1\8" X 4' X 16', TREAD PLATE 6061 T-6	06/30/2018	100 FT2	6.48	FT2	USD	648.00
	Non-Deductible Tax					USD	50.22
116	3/8" X 4' X 16' THREAD PLATE 6061 T-6	06/30/2018	50 FT2	19.78	FT2	USD	989.00
	Non-Deductible Tax					USD	76.6
117	1/4" ALUM SHEET 5052	06/30/2018	100 FT2	7.28	FT2	USD	728.00
	Non-Deductible Tax					USD	56.4
118	3/8" ALUM SHEET 5052	06/30/2018	100 FT2	12.00	FT2	USD	1,200.00
	Non-Deductible Tax					USD	93.0
119	3/16" ALUM SHEET 5052	06/30/2018	100 FT2	5.55	FT2	USD	555.0
	Non-Deductible Tax					USD	43.0
120	.125" 3003 ALUM SHEET	06/30/2018	100 FT2	3.55	FT2	USD	355.0
otes: T	he Terms and Conditions of this Purchase Order are availa	ble at http://sandiego	.gov/purchasing/	SEE	LA	ST F	PAGE
	IMPORTANT!					TOT	



PO No. 4500095258

Date: 10/31/2017 Page 13 of 13

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/P		Exte	nded Price
***	Non-Deductible Tax Item partially delivered					USD	27.52
121	1/4" ALUM SHEET 3003	06/30/2018	200 FT2	7.28	FT2	USD	1,456.00
	Non-Deductible Tax					USD	112.84
122	3/8" ALUM PLATE 3003	06/30/2018	300 FT2	12.00	FT2	USD	3,600.00
***	Non-Deductible Tax Item partially delivered					USD	279.00
123	.100" ALUM DIAMOND PLATE	06/30/2018	200 FT2	3.58	FT2	USD	716.00
	Non-Deductible Tax					USD	55.49
124	.188" ALUM DIAMOND PLATE	06/30/2018	200 FT2	6.41	FT2	USD	1,282.00
	Non-Deductible Tax					USD	99.36
125	.125" ALUM DIAMOND PLATE FIRE QUALITY	06/30/2018	100 FT2	7.97	FT2	USD	797.00
	Fleet Operations Department's Metal P.O. for the Fab Shops a and Miramar.	at Chollas					
	Please refer to OA 4600003068 for pricing justification. Business Tax Certificate and Insurance Documentation to be useful required.	updated as					
	POC: Jim Degler @ 619-527-7584 or JDegler@sandiego.gov						
	Mail Invoices To: Fleet Operations Department						
	2740 Caminito Chollas San Diego, CA 92105						
	Non-Deductible Tax					USD	61.77
Notes: T	he Terms and Conditions of this Purchase Order are avail	able at http://sandiego	.gov/purchasing/	Line Item			65,990.49
	IMPORTANT!			Tax	,	5	5,114.54
o ensur directed t	re prompt payments, PO # must appear on all ship to <i>Billing</i> Contact person at <i>Bill-To</i> address listed ab	ments and invoices; ove	all invoices must be	PO Total	,	\$	71,105.03